Axle Kit. 3" W/Out Ridge Pole for 41'-48' Trailers (Transfer Trailer

Config)

Part Number: 104055


https://dev.rollrite.com/envalogenerateboms.php/catalog/product/view/id/492/s/axle-kit-3-w-out-ridge-pole-for-41-48-trailers-transfer-trailer-config/
https://dev.rollrite.com/envalogenerateboms.php/catalog/product/view/id/492/s/axle-kit-3-w-out-ridge-pole-for-41-48-trailers-transfer-trailer-config/

Axle Kit. 3" W/Out Ridge Pole for 41'-48' Trailers (Transfer Trailer Confiq)

Roll-Rite.

Aftermarket Hesources

‘ 104055 Axle Kit, 3" w/Out Ridge Pole for 41' - 48' Trailers Chip Config ‘

Bom ID |Part# Description gty
1 102292 Axle. 3" Center Section Axle Kit (Full Length) 162" 3
2 102034 Axle. Front Section for 3" Axle Kit (Full Length)162" 1
3 101815 Steel Tubing. 1.125Dx16 ga x 12' Rnd Galv W/Swedge on end 3
4 102305 Rod. 101815 Steel Tarp Securing Rod cut to 88 3/4" No Swedge 1
5 102282 Rod. 101815 Steel Tarp Securing Rod cut to 77" W/ Swedge 1
6 37511 Guard. 12" Plastic Rub (Each) w/ fasteners 4
7 37830 Clip. Tarp Clip w/ hardware for Side-to-Side Axle 13
8 102332 Locking Lip. 3" locking lip Cut to 24" Long 8
9 36830 Clamp. Steel Clamp for Tarp Securing Rod ZINC (each) 2
10 18140 Screw. 1/4" x 3/4" Pan Phillips self Drilling 4
11 103004 Bolt. 5/16 - 18 x 1" Type 23 Self Tapping 4
12 103830 Bolt. 1/4"x1 1 1/2" Pan Phillips head 8




13

18110

Bolt. 1/4" x 1" Self Drilling Hex Washer Head

www.RolIRiteParts.com | 650 Industrial Drive Gladwin, M| 48624

800-297-9905




Axle Kit. 3" W/Out Ridge Pole for 41'-48' Trailers (Transfer Trailer Confiq)

Roll-Rite.

Aftermarket Hesources

‘ 104055 Axle Kit, 3" w/Out Ridge Pole for 41' - 48' Trailers Chip Config ‘

Bom ID |Part# Description gty
14 102038 Hardware. Shim Kit for 3" Side to Side Axle 1

www.RolIRiteParts.com | 650 Industrial Drive Gladwin, Ml 48624 | 800-297-9905



